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D)45 cm? @ 48cm? ® 52cm?®
@ 57cm3 ® 60cm?

(5% 3) x 3 =45(71)
1 x 45 = 45(cm?)
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O 7F=2 5cm, A2 5cem, 0] 5em ¢ ASHA
@ 7F2 9cm, A2 4cm, =°] 3cm QA ASHA
@7}1?._ 5.5cm, A2 6cm, =°] 4cm Q] 2-EHA
@ 7I2 4cm, A2 4cm, =°] 6cm Q 2S5 HA

® 712 12cm, A2 3cm, =°] 2.5cm Sl A-SHA
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@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5%x 6 x4 =132(cm?)
@ 4x4x6=096(cm?)
® 12x3x2.5=90(cm?)
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O 2164 cm? @ 2185cm? ® 2256 cm?
C@DQlQ?cm3 ® 2952 cm?

ASHA= 2A 29 dol7t BE Z5U T
(A oh=t=)x (A=)

= (3 =AM 2] ] dol)x (3t KLAfE] ] Zol)
=13x13 =169 0|02
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=13 x13 x 13 = 2197(cm?®)
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ZFY27F 7464 7+ 6 = 26(cm) ©] 2L, Al2E 9emPYTh
(AgHA Q] Zylo])=(2Hol)x2+ (FH°l)
=(Tx6)xX24+(7T+6+7+6)x9

=844 234
= 318(cm?)
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2x4)x2+(24+4+2+4)x5

5X2)+ (4x5)+ (2x4)

2x4)x24+ (4x5)x2+ (5x2)x2
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(5x2)
(5x2)x2+ (4+5+4+5)x4
(2x4)
(2x4)

2X4)%x6
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@ 92cm? @ 96.cm? ® 100 cm?
@ 106 cm? ®)108 cm?

w4 216 x % — 108(cm?)
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@ 300 cm?
2)450 cm?
® 600cm?
@ 750 cm?
® @, 00 dolg ¢ glemg 18 4 glsynt
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— 30 % 20 x 15 = 9000( cm®)
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(Bo1=9 29 £ £1]) = (4754 F1)

= (Ha3 F29 go]) x (&)

= (Ha3 F&9 gol) x20

(HE% FE o] Yo]) x20 = 9000 | 22,

(HE% FE o] Yo]) = 9000 + 20 = 450( cm?) Y T},
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@® 200 cm? @)190 cm? ® 180 cm?
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(ASsHA L] 24 ol)

= (5x5)x24+(5+5+5+5)x7

= 50+ 20 X 7 = 50 + 140 = 190( cm?)
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/ 16cm
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Ayo] : 1936cm’

@5760 cm? @ 5400 cm® ® 5216 cm?

@ 4924 cm? ® 4866 cm?

712 16 cm, A2 18cm?Ql AL S-S
T3 Byt

16X 18X 2 + (16 + 18 + 16 + 18) x| | = 1936
576 + 68 x| | =1936

[ ]= (1936 - 576) + 68 = 20( cm)
(F1]) = 16 x 18 x 20 = 5760( cm?)
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